

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Progress Estimate Number 10	Contract ID Prime Contracto	241115- r Pace Co	F05 Instruction Company,	LLC	Pay Period Start Pay Period End			Original Contract Amount Net Change Order Amount Current Contract Amount	\$4,812,715.00 \$0.00 \$4,812,715.00
Approval Date									By User
September 2, 2025	ptember 2, 2025 Generated and Approved (and should be considered Draft) at the Project Office Le								
September 2, 2025		Resident Engineer Level by	wolkt1						
September 4, 2025	er 4, 2025 Reviewed and Approved at the Central Office Controllers Office Lev								ramses1
Original Completion Date Current			ompletion Date	А	t Complete				
October 15, 20	025	Octob	er 15, 2025 50.37%						
	Contra	ct Informa	tional Dates		Milestones				
Date Description	Original Compl	etion Date	Current Completio	n Date	•	No Milesto	nes Exist	for Contract	
Acceptance Date									
Awarded Date	December 4, 20	24	December 4, 2024						
Letting Date	ng Date November 15, 2024 November 15, 2024								
Notice to Proceed Date	ice to Proceed Date January 6, 2025 January 6, 2025								
Work Began Date April 16, 2025 April 16, 2025									

Contract Total Pay	Contract Total Pay For Estimate No. 10										
		This Estimate	Previous	To Date							
241115-F05											
	Total Posted Items Pay	\$1,082,748.34	\$1,341,182.96	\$2,423,931.30							
	Gross Item Adjustments	\$0.00	(\$133,592.00)	(\$133,592.00)							
	Incentive	\$0.00	\$4,068.00	\$4,068.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
	•		\$1,211,658.96	\$2,294,407.30							
Contract Total Pay	able This Estimate:	\$1,082,748.34									

Items Paid This Estimate Period

GRADING CLASS 2, MODIFIED ONCRETE MIXTURE PG 76-22 (SP095CLP MIX)	STA	\$1,750.000	17.300	\$30,275.00
ONCRETE MIXTURE PG 76-22 (SP095CLP MIX)	TONE			
	TONS	\$113.000	4,996.880	\$564,647.44
NON-TRACKING	GAL	\$3.350	3,869	\$12,961.15
RARY TRAFFIC CONTROL	LS	\$23,137.000	0.500	\$11,568.50
N	LS	\$350,000.000	0.500	\$175,000.00
BITUMINOUS PAVEMENT FOR REMOVAL OF 3 IN. THICK OR LESS)	SQYD	\$2.750	104,835	\$288,296.25
	RARY TRAFFIC CONTROL N BITUMINOUS PAVEMENT FOR REMOVAL OF	RARY TRAFFIC CONTROL LS LS BITUMINOUS PAVEMENT FOR REMOVAL OF SQYD	RARY TRAFFIC CONTROL LS \$23,137.000 LS \$350,000.000 BITUMINOUS PAVEMENT FOR REMOVAL OF SQYD \$2.750	RARY TRAFFIC CONTROL LS \$23,137.000 0.500 LS \$350,000.000 0.500 BITUMINOUS PAVEMENT FOR REMOVAL OF SQYD \$2.750 104,835

 Project JSL0076 - Total
 \$1,082,748.34

 Overall - Total
 \$1,082,748.34

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0076	0060	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-2,528.10000	\$8.20	(\$20,730.42)
	0060	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user smithea overridding Payment Estimate Exception 1 on the current Payment Estimate.	2,528.10000	\$8.20	\$20,730.42
	0160	MISC.	Material			-6	\$2,000.00	(\$12,000.00)
	0160	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on	6	\$2,000.00	\$12,000.00

Revision 9/2/2025 Page 1 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

stimat	gress e Numi 10		115-F05 e Constructior	n Company, L	LC Pay Period End September 1, 2025	Original Contrac Net Change Ord Current Contrac	er Amount	\$4,812,715.00 \$0.00 \$4,812,715.00
roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
L0076					the current Payment Estimate.			
	0210	CONCRETE SIDEWALK, 4 IN.	Material			-659.70000	\$64.00	(\$42,220.80)
	0210	CONCRETE SIDEWALK, 4 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user smithea overridding Payment Estimate Exception 3 on the current Payment Estimate.	659.70000	\$64.00	\$42,220.80
	0220	MISC.	Material			-21	\$3,000.00	(\$63,000.00)
	0220	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user smithea overridding Payment Estimate Exception 5 on the current Payment Estimate.	21	\$3,000.00	\$63,000.00
	0260	MISC.	Material			-38	\$100.00	(\$3,800.00)
	0260	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Payment Estimate Exception 6 on the current Payment Estimate.	38	\$100.00	\$3,800.00
	0270	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-1,560	\$220.00	(\$343,200.00)
	0270	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user smithea overridding Payment Estimate Exception 7 on the current Payment Estimate.	1,560	\$220.00	\$343,200.00
	0300	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material			-1,738	\$4.75	(\$8,255.50)
	0300	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user smithea overridding Payment Estimate Exception 8 on the current Payment Estimate.	1,738	\$4.75	\$8,255.50
	0310	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material			-70	\$5.97	(\$417.90)
	0310	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate.	70	\$5.97	\$417.90
	0620	SH-FLAT SHEET - SIGNAL SIGN	Material			-10	\$27.00	(\$270.00)
	0620	SH-FLAT SHEET - SIGNAL SIGN	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user smithea overridding Payment Estimate Exception 11 on the current Payment Estimate.	10	\$27.00	\$270.00

Revision 9/2/2025 Page 2 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Со	ntract Project Informa	ation		
Project Number	Federal Project Proj. Proj. Description Number County Location of Work Location of Work								
JSL0076	JSL0076 FAF-340-1 (21) Coldmill, resurface and ADA improvements 340 ST LOUIS from I-270 to Industrial Dielman Court in Creve Coeur								
Totals I	by Job Nu	mbers							
JSL0076		Item Pay tem Adjustment	ts Gross Ite	em Pay	This Estimate \$1,082,748.34 \$0.00 \$1,082,748.34	Previous \$1,341,182.96 (\$133,592.00) \$1,207,590.96	To Date \$2,423,931.30 (\$133,592.00) \$2,290,339.30		
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$4,068.00 \$0.00 \$0.00 \$0.00	\$4,068.00 \$0.00 \$0.00 \$0.00		

Revision 5/29/2025 Page 3 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 3040504, Project Item Line Number 0060, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Still working with contractor and materials to get samples approved	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6049903, Project Item Line Number 0160, Material Set 6049903, Material 0614DFGTCV - Curved Vane Grate and Frame, Acceptance Action Generic 0614DFGTCV is insufficient.	Awaiting paperwrok from supplier	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6086004, Project Item Line Number 0210, Material Set 608600496, Material 0501CCPAQCQA - Concrete, Payment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Still working with contractor and materials to get samples approved. A couple of reports have come through and will look at them asap.	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6086004, Project Item Line Number 0210, Material Set 608600496, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Still working with contractor and materials to get samples approved. As noted above, a couple of sample records have been submitted and will look at them asap to resolve.	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6089902, Project Item Line Number 0220, Material Set 608990296, Material 1036RSDFEC42M16 - Rein Steel EC No. 5/M16 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Still working with contractor and materials to get samples approved	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6099903, Project Item Line Number 0260, Material Set 6099903, Material 1057JMTBE42013 - Tie Bar Ep Ctd 12" No. 4/M13 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Still working with contractor and materials to get samples approved	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6131010, Project Item Line Number 0270, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Still working with contractor and materials to get samples approved	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6131015, Project Item Line Number 0300, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Need to follow up with contractor for additional certifications	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6131018, Project Item Line Number 0310, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Need to enter inspection for adhesive. Will work with MoDot to get resolved.	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 6131018, Project Item Line Number 0310, Material Set 613101896, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Still working with contractor and materials to get samples approved	smithea	Overridden
Estimate Exception Type: Insufficient Materials: Project JSL0076, Item 9020833, Project Item Line Number 0620, Material Set 902083396, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Need to review sample to ensure all fields match	smithea	Overridden
Estimate Exception Type: Item Overrun: Contract 241115-F05, Contract Project JSL0076, Project Item Line Number 0270, Contract Line Item Number 0270, Item 6131010, Minor Item.	Need to do change order	smithea	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-F05, Contract Project JSL0076, Project Item Line Number 0280, Contract Line Item Number 0280, Item 6131012, Minor Item.	Need to do change order	smithea	Acknowledged

Revision 5/29/2025 Page 4 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

tract Proje D No		Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
115- JSL0	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.25	\$287,005.50	\$71,751.3
	0001	0020	2063500	CULVERT CLEANOUT	15.00	0.00	15.00	EA	0.00	\$1,100.00	\$0.0
	0001	0030	2071000	LINEAR GRADING CLASS 1	0.90	0.00	0.90	STA	0.00	\$4,150.00	\$0.0
	0001 0040 2079909 MISC.LINEAR GRADING CLASS 2, MODIFIED				29.30	0.00	29.30	STA	17.30	\$1,750.00	\$30,275.0
	0001	0050	2159910	MISC.SHAPING SLOPES CLASS III, MODIFIED	1.00	0.00	1.00	100F	0.00	\$1,600.00	\$0.0
	0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	2,957.00	0.00	2,957.00	SQYD	2,528.10	\$8.20	\$20,730.4
	0001	0070	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	443.00	0.00	443.00	SQYD	28.00	\$20.00	\$560.0
	0001	0080	4030012	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095CLP MIX)	19,139.20	0.00	19,139.20	TONS	9,147.69	\$113.00	\$1,033,688.
	0001	0090	4071007	TACK COAT - NON-TRACKING	15,948.00	0.00	15,948.00	GAL	6,938.00	\$3.35	\$23,242.
	0001	0110	5021111	CONCRETE PAVEMENT (11 INCH NON-REINFORCED)	48.00	0.00	48.00	SQYD	0.00	\$375.00	\$0.
	0001	0120	5021311	CONCRETE PAVEMENT (11 IN. NON-REINFORCED 15 FT. JOINTS)	310.00	0.00	310.00	SQYD	0.00	\$175.00	\$0
	0001	0130	6049902	MISC.ADJUSTING MANHOLES AND VALVES	40.00	0.00	40.00	EA	0.00	\$550.00	\$0
	0001	0140	6049902	MISC.CONCRETE MANHOLE COLLAR	4.00	0.00	4.00	EA	0.00	\$4,450.00	\$0
	0001	0150	6049902	MISC.CURB INLET TOP REPAIR/REPLACEMENT	8.00	0.00	8.00	EA	0.00	\$1,100.00	\$0
	0001	0160	6049903	MISC.GRATED INLET REPAIR/REPLACEMENT	44.00	0.00	44.00	LF	6.00	\$2,000.00	\$12,000
	0001	0170	6081012	TRUNCATED DOMES	478.00	0.00	478.00	SQFT	108.80	\$22.60	\$2,458
	0001	0180	6083006	6 IN. CONCRETE MEDIAN STRIP	40.00	0.00	40.00	SQYD	1.00	\$200.00	\$200
	0001										
	0001	0190	6084023	SIDEWALK HAND-RAILING WITHOUT BALUSTERS	42.00	0.00	42.00	LF	0.00	\$180.00	\$0
	0001	0200	6085008	PAVED APPROACH, 8 IN.	667.30	0.00	667.30	SQYD	340.30	\$115.00	\$39,134
		0210	6086004	CONCRETE SIDEWALK, 4 IN.	1,437.00	0.00	1,437.00	SQYD	659.70	\$64.00	\$42,220
	0001	0220	6089902	MISC.ADA CONCRETE CURB RAMP	37.00	0.00	37.00	EA	21.00	\$3,000.00	\$63,000
	0001	0230	6091051	CURB AND GUTTER TYPE A	1,021.00	0.00	1,021.00	LF	88.00	\$55.00	\$4,840
	0001	0240	6092013	INTEGRAL CURB TYPE M	235.00	0.00	235.00	LF	7.00	\$65.00	\$455
	0001	0250	6092022	INTEGRAL CURB (OVER 6 IN. HEIGHT) TYPE B	89.00	0.00	89.00	LF	46.00	\$78.00	\$3,58
	0001	0260	6099903	MISC.VARIABLE HEIGHT CURB	68.00	0.00	68.00	LF	38.00	\$100.00	\$3,80
	0001	0270	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,003.40	0.00	1,003.40	SQYD	1,560.00	\$220.00	\$343,20
	0001	0280	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	1,003.00	0.00	1,003.00	SQYD	1,560.00	\$20.00	\$31,20
	0001	0290	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	4,366.00	0.00	4,366.00	LF	4,048.00	\$11.30	\$45,74
	0001	0300	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	2,443.00	0.00	2,443.00	EA	1,738.00	\$4.75	\$8,25
	0001	0310	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	566.00	0.00	566.00	EA	70.00	\$5.97	\$41
	0001	0320	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	61.00	0.00	61.00	TONS	0.00	\$97.00	\$
	0001	0330	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	275.00	0.00	275.00	SQYD	0.00	\$155.00	\$
	0001	0340	6139911	MISC.CLASS A PARTIAL DEPTH REPAIR CONCRETE PAVEMENT REPAIR USING FLEXIBLE, HOT POLYMER MODIFIED REPAIR MATERIAL	2,400.00	0.00	2,400.00	LB	0.00	\$4.15	\$
	0001	0350	6143020	CURB INLET	1.00	0.00	1.00	EA	0.00	\$7,498.46	\$
	0001	0360	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	4.00	0.00	4.00	EA	4.00	\$2,500.00	\$10,00
	0001	0370	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$23,137.00	\$23,13
	0001	0380	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$350,000.00	\$262,50
	0001	0390	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	2.00	0.00	2.00	EA	0.00	\$600.00	\$
	0001	0400	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,668.00	0.00	1,668.00	LF	0.00	\$18.00	\$
	0001	0410	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	475.00	0.00	475.00	LF	0.00	\$18.00	\$
	0001	0420	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	160.00	0.00	160.00	EA	0.00	\$270.00	\$
	0001	0430	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	8.00	0.00	8.00	EA	0.00	\$450.00	\$
	0001	0440	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	4.00	0.00	4.00	EA	0.00	\$450.00	\$
	0001	WHITE MIDBLOCK			763.00	0.00	763.00	EA	0.00	\$180.00	\$
	0001 0460 6200042 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES 0001 0470 6205902A 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKIN			73,053.00	0.00	73,053.00	EA LF	0.00	\$65.00 \$0.28	\$	
	0001	0470	6205902A 6205903A	PAINT, TYPE L BEADS	47,601.00	0.00	47,601.00	LF	0.00	\$0.28	\$1
	0001	0490	6209901	MARKING PAINT, TYPE L BEADS MISC.PAVEMENT MARKING REMOVAL WITHIN CONCRETE	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$
		0 700	3200001	2 / VEINERY IN A WAR OF TENOVY IE WITTING CONONCILE	1.00	0.00	1.00	LU	0.00	\$5,550.00	φι



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

intract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1115-	JSL0076				SURFACES							
5		0001	0500	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.00
		0001	0510	6209902	MISC.CURB REFLECTORS	12.00	0.00	12.00	EA	0.00	\$35.00	\$0.00
		0001	0520	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	159,485.00	0.00	159,485.00	SQYD	104,835.00	\$2.75	\$288,296.25
		0001	0530	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$100.00	\$0.00
		0001	0540	8031000A	TURF TYPE TALL FESCUE SODDING	2,300.00	0.00	2,300.00	SQYD	0.00	\$10.00	\$0.00
		0001	0550	8061007A	CURB INLET CHECK	172.00	0.00	172.00	EA	0.00	\$50.00	\$0.00
		0001	0560	8061016	SEDIMENT REMOVAL	193.00	0.00	193.00	CUYD	0.00	\$77.00	\$0.00
		0001	0570	8061019	SILT FENCE	2,062.00	0.00	2,062.00	LF	0.00	\$3.00	\$0.00
		0010	0580	6061060	MGS GUARDRAIL	450.00	0.00	450.00	LF	450.00	\$30.00	\$13,500.00
		0010	0590	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$2,100.00	\$2,100.0
		0010	0600	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	1.00	0.00	1.00	EA	1.00	\$3,800.00	\$3,800.0
		0010	0610	9109903	MISC.MODOT ITS ASSETS RELOCATION	100.00	0.00	100.00	LF	0.00	\$26.00	\$0.0
		0030	0620	9020833	SH-FLAT SHEET - SIGNAL SIGN	10.00	0.00	10.00	SQFT	10.00	\$27.00	\$270.0
		0030	0630	9020834	SIGNAL SIGN, MOUNTING HARDWARE	11.00	0.00	11.00	EA	11.00	\$24.00	\$264.0
		0030	0640	9028308	CABLE, 16 AWG 2 CONDUCTOR	3,600.00	0.00	3,600.00	LF	3,600.00	\$1.25	\$4,500.00
		0030	0650	9028310	CABLE, 16 AWG 5 CONDUCTOR	890.00	0.00	890.00	LF	890.00	\$1.50	\$1,335.00
		0030	0660	9028811	PULL BOX, PREFORMED CLASS 2	1.00	0.00	1.00	EA	0.00	\$3,319.00	\$0.00
		0030	0670	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE AND PROGRAMM	1.00	0.00	1.00	LS	0.00	\$2,100.00	\$0.00
		0030	0680	9029902	MISC.AUDIBLE PEDESTRIAN PUSH BUTTON	21.00	0.00	21.00	EA	21.00	\$1,386.00	\$29,106.00
		0030	0690	9029902	MISC.COUNTDOWN PEDESTRIAN SIGNAL HEAD, TYPE 1S	10.00	0.00	10.00	EA	6.00	\$727.00	\$4,362.00
		0050	0700	9108811	PULL BOX, PREFORMED CLASS 2	3.00	0.00	3.00	EA	0.00	\$3,319.00	\$0.00
		0050	0710	9109902	MISC.CONDUIT SYSTEM ADJUSTMENT OR REPAIR	3.00	0.00	3.00	EA	0.00	\$1,155.00	\$0.00
		0050	0720	9109903	MISC.CONDUIT AND CABLE ADJUSTMENT	250.00	0.00	250.00	LF	0.00	\$26.00	\$0.00
		0040	0730	9039902	MISC.18 IN. ISLAND TUBULAR MARKERS	4.00	0.00	4.00	EA	0.00	\$125.00	\$0.00
	Project J	SL0076 - To	otal Value	Posted to D	Date as of Report Generated Date							\$2,423,931.30
115-F	05 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$2,423,931.30

Revision 5/29/2025 Page 6 of 14



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSL0076

ine mber	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0 2	2079909	MISC. GRADING	9/1/25	9/2/25	1	17.30	STA	Various locations.	128+13		263+24		
0 4	4030012	ASPHALTIC CONCRETE MIXTURE PG 76-22	9/1/25	9/2/25	1	340.85	TONS	Asphalt placed on 8/20/25.	254+35		270+50		
		(SP095CLP MIX)		9/2/25	2	1,067.04	TONS	Asphalt placed on 8/20/25.	270+50 WB Lane 1		195+73 WB Lane 1		
				9/2/25	3	1,053.68	TONS	Asphalt placed on 8/22/25.	195+73 WB Lane 1		135+37 WB Lane 1		
				9/2/25	4	831.73	TONS	Asphalt placed on 8/25/25.	160+80 WB Turn Lane		133+71 EB Lane 3		
				9/2/25	5	765.51	TONS	Asphalt placed on 8/26/25.	157+30 WB Lane 1		115+40 WB Lane 1		
				9/2/25	6	696.83	TONS	Asphalt placed on 8/27/25.	151+32 WB Left Turn		153+00		
				9/2/25	7			Asphalt placed on 8/28/25.	158+20 WB		169+80 EB		
0 4	4071007	TACK COAT - NON-TRACKING	9/1/25	9/2/25	1	242.00		Tack placed on 8/20/25.	254+35		270+50		
				9/2/25	2	870.00	GAL	Tack placed on 8/21/25.	270+50 WB Lane 1		195+73 WB Lane 1		
				9/2/25	3	726.00	GAL	Tacked placed on 822/25.	195+73 WB Lane 1		135+37 WB Lane 1		
				9/2/25	4	580.00	GAL	Tack placed on 8/25/25.	160+80 WB Turn Lane		133+71 EB Lane 3		
				9/2/25	5	483.00	GAL	Tack placed on 8/26/25.	157+30 WB Lane 1		115+40 WB Lane 1		
				9/2/25	6	678.00	GAL	Tack placed on 8/27/25.	151+32 WB Left Turn		153+00		
				9/2/25	7	290.00	GAL	Tack placed on 8/28/25.	158+20 WB		169+80 EB		
	6169901			9/2/25	1	0.50			115+40		102+26		
		MOBILIZATION		9/2/25	1	0.50			115+40		102+26		
20 6	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	9/1/25	9/2/25	1			Milling on 8/11/25.	115+40		186+00		
				9/2/25				Milling on 8/13/25.	186+00		265+00		
				9/2/25	3			Milling on 8/14/25.	270+00		215+00		
				9/2/25				Milling on 8/15/25.	215+00		154+00		
				9/2/25	5			Milling on 8/16/25.	154+00		115+40		
				9/2/25				Milling on 8/18/25.	115+40		154+00		
				9/2/25	7			Milling on 8/19/25.	193+00		253+00		
				9/2/25	8			Milling on 8/20/25. Milling on 8/21/25.	254+00 270+00		270+00 193+00		
				9/2/25	10			Milling on 8/22/25.	193+00		130+00		
				9/2/25	11			Milling on 8/25/25. Milling on 8/25/25 at various locations.	157+00		157+00		
				9/2/25	12			Milling on 8/26/25 various locations.	160+00		115+40		
				9/2/25	13	5,337.00	SQYD	Milling on 8/27/25 various turn lanes and locations.	157+00		115+40		
		and any other lines are detaile for Constantion C		9/2/25	14	2,330.00	SQYD	Milling on 8/28/25 various locations	170+00		130+00		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 14



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0076	0060	TYPE 5 AGGREGATE	Material		5	Jun 16, 2025	SYSTEM	(\$3,050.40)	
		FOR BASE			5	Jun 16, 2025	SYSTEM	\$3,050.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user anderk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$5,268.50)	
					6	Jul 1, 2025	SYSTEM	\$5,268.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user anderk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$7,810.50)	
					7	Jul 16, 2025	SYSTEM	\$7,810.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user anderk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$14,412.32)	
					8	Aug 4, 2025	SYSTEM	\$14,412.32	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user anderk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$20,730.42)	
					9	Aug 18, 2025	SYSTEM	\$20,730.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user anderk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$20,730.42)	
				10	Sep 2, 2025	SYSTEM	\$20,730.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user smithea overridding Payment Estimate Exception 1 on the current Payment Estimate.	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0060 .	- Total						\$0.00	
	0160	MISC. DRAINAGE	Material		9	Aug 18, 2025	SYSTEM	\$0.00 (\$12,000.00)	
		MISC. DRAINAGE	Material		9	Aug 18, 2025 Aug 18, 2025	SYSTEM SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate.
		MISC. DRAINAGE	Material			2025 Aug 18,		(\$12,000.00)	Estimate Item Adjustment (0002) due to user anderk overridding Payment
		MISC. DRAINAGE	Material		9	2025 Aug 18, 2025 Sep 2,	SYSTEM	(\$12,000.00) \$12,000.00	Estimate Item Adjustment (0002) due to user anderk overridding Payment
		MISC. DRAINAGE		- Total	9	2025 Aug 18, 2025 Sep 2, 2025 Sep 2,	SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00)	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment
	0160	MISC. DRAINAGE ITEM	Material Material - To		9	2025 Aug 18, 2025 Sep 2, 2025 Sep 2,	SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment
	0160	MISC. DRAINAGE ITEM	Material - To		9 10 10	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025	SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment
	0160	MISC. DRAINAGE ITEM			9 10 10 6	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 1, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 \$0.00 (\$1,371.82)	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED	Material - To		9 10 10 6 6 6	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 1, 2025 Jul 1, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 (\$1,371.82) \$1,371.82	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED	Material - To		9 10 10 6 6 7	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 1, 2025 Jul 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 \$1,371.82 \$1,371.82	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED	Material - To		9 10 10 6 6 7 7	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 (\$1,371.82) \$1,371.82 (\$1,826.08)	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED	Material - To		9 10 10 10 6 6 7 7 8 8	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 \$1,371.82 (\$1,826.08) \$1,826.08	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED	Material - To	otal	9 10 10 6 6 7 7	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 \$13,371.82 (\$1,826.08) \$1,826.08 (\$1,826.08)	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED	Material - To	- Total	9 10 10 10 6 6 7 7 8 8	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 11, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 \$1,371.82 (\$1,371.82 (\$1,826.08) \$1,826.08 \$1,826.08	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
	0160	MISC. DRAINAGE ITEM -Total TRUNCATED DOMES	Material - To	- Total	9 10 10 10 6 6 7 7 8 8	2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jul 11, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$12,000.00) \$12,000.00 (\$12,000.00) \$12,000.00 \$0.00 \$0.00 \$13,371.82 (\$1,826.08) \$1,826.08 (\$1,826.08)	Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user smithea overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0076	0200	PAVED APPROACH, 8 IN.	Material		5	Jun 16, 2025	SYSTEM	(\$8,441.00)	
					5	Jun 16, 2025	SYSTEM	\$8,441.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user anderk overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$21,620.00)	
					6	Jul 1, 2025	SYSTEM	\$21,620.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user anderk overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$39,134.50)	
					7	Jul 16, 2025	SYSTEM	\$39,134.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user anderk overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0200 -							\$0.00	
	0210	CONCRETE SIDEWALK, 4 IN.	Material		4	Jun 2, 2025	SYSTEM	(\$2,560.00)	
					4	Jun 2, 2025	SYSTEM	\$2,560.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user anderk overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 16, 2025	SYSTEM	(\$19,110.40)	
					5	Jun 16, 2025	SYSTEM	\$19,110.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user anderk overridding Payment Estimate Exception 5 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$29,344.00)	
					6	Jul 1, 2025	SYSTEM	\$29,344.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user anderk overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$41,222.40)	
					7	Jul 16, 2025	SYSTEM	\$41,222.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user anderk overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$41,222.40)	
					8	Aug 4, 2025	SYSTEM	\$41,222.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user anderk overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$42,220.80)	
					9	Aug 18, 2025	SYSTEM	\$42,220.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user anderk overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$42,220.80)	
					10	Sep 2, 2025	SYSTEM	\$42,220.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user smithea overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
	0040	Total	Material - To	otal				\$0.00	
	0210 - 0220	MISC. CONCRETE	Material		5	Jun 16,	SYSTEM	\$0.00 (\$18,000.00)	
					5	2025 Jun 16, 2025	SYSTEM	\$18,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user anderk overridding Payment
					6	Jul 1,	SYSTEM	(\$48,000.00)	Estimate Exception 8 on the current Payment Estimate.
					6	2025 Jul 1,	SYSTEM	\$48,000.00	This adjustment offsets the original system-generated Material Payment
						2025		,0.00	Estimate Item Adjustment (0005) due to user anderk overridding Payment



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
076	0220	MISC. CONCRETE	Material	, ,,					Estimate Exception 6 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$63,000.00)	
					7	Jul 16, 2025	SYSTEM	\$63,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user anderk overridding Payment Estimate Exception 7 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$63,000.00)	
					8	Aug 4, 2025	SYSTEM	\$63,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user anderk overridding Payment Estimate Exception 5 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$63,000.00)	
					9	Aug 18, 2025	SYSTEM	\$63,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user anderk overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$63,000.00)	
					10	Sep 2, 2025	SYSTEM	\$63,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user smithea overridding Paymen Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0220 -	- Total						\$0.00	
	0260	MISC. PAVED DRAINAGE	Material		6	Jul 1, 2025	SYSTEM	(\$1,700.00)	
					6	Jul 1, 2025	SYSTEM	\$1,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user anderk overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$3,800.00)	
					7	Jul 16, 2025	SYSTEM	\$3,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user anderk overridding Payment Estimate Exception 8 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$3,800.00)	
					8	Aug 4, 2025	SYSTEM	\$3,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user anderk overridding Payment Estimate Exception 6 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$3,800.00)	
					9	Aug 18, 2025	SYSTEM	\$3,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user anderk overridding Payment Estimate Exception 6 on the current Payment Estimate.
									Estimate Exception of on the current Fayment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$3,800.00)	
					10	Sep 2, 2025 Sep 2, 2025	SYSTEM	(\$3,800.00) \$3,800.00	This adjustment offsets the original system-generated Material Payment
				- Total		2025 Sep 2,		\$3,800.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Paymen
			Material - To			2025 Sep 2,		\$3,800.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Paymen
		-Total			10	2025 Sep 2, 2025	SYSTEM	\$3,800.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Paymen
	0260 - 0270	FURN & PLACE CONC MATL FOR FULL DEPTH	Material - To		10	2025 Sep 2, 2025 Aug 4, 2025	SYSTEM	\$3,800.00 \$0.00 \$0.00 \$0.00 (\$177,122.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Paymen Estimate Exception 6 on the current Payment Estimate.
		FURN & PLACE CONC MATL FOR			8 8	2025 Sep 2, 2025 Aug 4, 2025 Aug 4, 2025	SYSTEM SYSTEM	\$3,800.00 \$0.00 \$0.00 \$0.00 (\$177,122.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Paymen
		FURN & PLACE CONC MATL FOR			8 8 9	2025 Sep 2, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM SYSTEM SYSTEM	\$3,800.00 \$0.00 \$0.00 \$177,122.00 \$177,122.00 \$343,200.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user anderk overridding Payment Estimate Exception 7 on the current Payment Estimate.
		FURN & PLACE CONC MATL FOR			8 8	2025 Sep 2, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18,	SYSTEM SYSTEM	\$3,800.00 \$0.00 \$0.00 \$0.00 (\$177,122.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user smithea overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user anderk overridding Payment



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
076	0270	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		10	Sep 2, 2025	SYSTEM	\$343,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user smithea overridding Payment Estimate Exception 7 on the current Payment Estimate.
			- Total					\$0.00	
			Material - Total					\$0.00	
			Overrun	Overrun	9	Aug 18, 2025	SYSTEM	(\$122,452.00)	
				Overrun - T	otal			(\$122,452.00)	
			Overrun - T	otal				(\$122,452.00)	
	0270 -							(\$122,452.00)	
	0280	SUBGRADE COMPACTION (6 IN. DEPTH)	Overrun	Overrun - To	9	Aug 18, 2025	SYSTEM	(\$11,140.00)	
		(PAVEM	Overween T		otai			(\$11,140.00)	
	0000	T-4-1	Overrun - T	otai				(\$11,140.00)	
	0280 -				_			(\$11,140.00)	
	0300	DOWEL BAR (DRILLING, FURNISHING AND	Material		8	Aug 4, 2025	SYSTEM	(\$5,519.50)	T
		INST			8	Aug 4, 2025	SYSTEM	\$5,519.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user anderk overridding Payment Estimate Exception 8 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$8,255.50)	
					9	Aug 18, 2025	SYSTEM	\$8,255.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user anderk overridding Payment Estimate Exception 8 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$8,255.50)	
					10	Sep 2, 2025	SYSTEM	\$8,255.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user smithea overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0300 -	Total						\$0.00	
	0310	TIE BAR (DRILL, FURN & INSTAL) (TYPE L			9	Aug 18, 2025	SYSTEM	(\$417.90)	
					9	Aug 18, 2025	SYSTEM	\$417.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user anderk overridding Payment Estimate Exception 10 on the current Payment Estimate.
					10	Sep 2,	SYSTEM		
						2025		(\$417.90)	
					10	2025 Sep 2, 2025	SYSTEM	(\$417.90) \$417.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total	10	Sep 2,		, ,	Estimate Item Adjustment (0008) due to user smithea overridding Payment
			Material - To		10	Sep 2,		\$417.90	Estimate Item Adjustment (0008) due to user smithea overridding Payment
	0310 -	. Total	Material - To		10	Sep 2,		\$417.90 \$0.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment
	0310 -	CHANGEABLE MESSAGE SIGN	Material - To		10	Sep 2,		\$417.90 \$0.00 \$0.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR				Sep 2, 2025	SYSTEM	\$417.90 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE,			1	Sep 2, 2025 Apr 15, 2025 Apr 15,	SYSTEM	\$417.90 \$0.00 \$0.00 \$0.00 (\$10,000.00)	Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user przygj2 overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /		otal - Total	1	Sep 2, 2025 Apr 15, 2025 Apr 15,	SYSTEM	\$417.90 \$0.00 \$0.00 \$0.00 (\$10,000.00) \$10,000.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user przygj2 overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material	otal - Total	1	Sep 2, 2025 Apr 15, 2025 Apr 15,	SYSTEM	\$417.90 \$0.00 \$0.00 \$0.00 (\$10,000.00) \$10,000.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user przygj2 overridding Payment
	0360	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material	otal - Total	1	Sep 2, 2025 Apr 15, 2025 Apr 15,	SYSTEM	\$417.90 \$0.00 \$0.00 \$0.00 (\$10,000.00) \$10,000.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user przygj2 overridding Payment
	0360	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material Material - To	otal - Total	1	Apr 15, 2025 Apr 15, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM	\$417.90 \$0.00 \$0.00 \$0.00 (\$10,000.00) \$10,000.00 \$0.00 \$0.00	Estimate Item Adjustment (0008) due to user smithea overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user przygj2 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0076	0370	MISC.	Material		6	Jul 1, 2025	SYSTEM	\$5,784.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user anderk overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0370	- Total						\$0.00	
	0620	SH-FLAT SHEET - SIGNAL SIGN	Material		7	Jul 16, 2025	SYSTEM	(\$270.00)	
					7	Jul 16, 2025	SYSTEM	\$270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user anderk overridding Payment Estimate Exception 9 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$270.00)	
					8	Aug 4, 2025	SYSTEM	\$270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user anderk overridding Payment Estimate Exception 9 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$270.00)	
					9	Aug 18, 2025	SYSTEM	\$270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user anderk overridding Payment Estimate Exception 11 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$270.00)	
					10	Sep 2, 2025	SYSTEM	\$270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user smithea overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0620 -	Total						\$0.00	
	0630	SIGNAL SIGN, MOUNTING HARDWARE	Material		7	Jul 16, 2025	SYSTEM	(\$264.00)	
					7	Jul 16, 2025	SYSTEM	\$264.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user anderk overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0630 -	- Total						\$0.00	
	0640	CABLE, 16 AWG 2 CONDUCTOR	Material		7	Jul 16, 2025	SYSTEM	(\$4,500.00)	
					7	Jul 16, 2025	SYSTEM	\$4,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user anderk overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0640	- Total						\$0.00	
	0650	CABLE, 16 AWG 5 CONDUCTOR	Material		7	Jul 16, 2025	SYSTEM	(\$1,335.00)	
					7	Jul 16, 2025	SYSTEM	\$1,335.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user anderk overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0650	- Total						\$0.00	
	0680	MISC.	Material		7	Jul 16, 2025	SYSTEM	(\$29,106.00)	
					7	Jul 16, 2025	SYSTEM	\$29,106.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user anderk overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0680	· Total						\$0.00	
								,	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0076	0690	MISC.	Material		7	Jul 16, 2025	SYSTEM	(\$4,362.00)	
					7	Jul 16, 2025	SYSTEM	\$4,362.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user anderk overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0690 -	Total						\$0.00	
JSL0076	JSL0076 - Total								
Overall -	Overall - Total								



Contract Adjustments for Contract - 241115-F05

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
9	JSL0076	Incentive	SPAD	\$4,068.00	100	August 18, 2025	anderk	Volumetric bonus for Lot 1, mix id SP095 25-20
9 - Total				\$4,068.00				
Overall - Total				\$4,068.00				

Revision 5/29/2025 Page 14 of 14